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Exercises for Gwartney, Stroup, Sobel, and Macpherson, Chapter

FreeMarketEquilibrium: The sheet is provided for reference purposes. It contains material covered previously.

No question from this sheet.

RiggedMarket. It is possible that markets can be rigged in ways that reduce the supply. The results of such reduction are a reduced quantity of the good, a higher price paid by consumers, decreased Consumer Surplus, and increased Producer Surplus. The increase in Producer Surplus is less that the decrease in Consumer Surplus, so rigging the market generates a deadweight loss. Corresponds to Exhibit 3.

1.
a.
In the absence of any restriction (the supply curved is shifted leftward by 0), the equilibrium price is $______ per unit, and the equilibrium quantity is ______ units. At this equilibrium, Consumer Surplus is $_______, Producer Surplus is $______, and Combined Surplus is $________.


b.
Shift the supply curve leftward. Shifting the supply curved i leftward by _____ has these results: the equilibrium price is $______ per unit, and the equilibrium quantity is ______ units. At this equilibrium, Consumer Surplus is $_______, Producer Surplus is $______, and Combined Surplus is $________.


c.
Look at each of the eleven distances that you can shift the supply curve (including 0). At which of these 11 is Producer Surplus maximized? ________

NegativeProductionExternality: Short Description of Worksheet. 

2. 
a.
If producing this good imposes no external cost, then the optimal quantity is also the equilibrium quantity. Set Cost = $0. The resulting Consumer Surplus is $_____, the Producer Surplus is $________, the External Cost is $_____, and the Combined Net Surplus is $________.


b.
If producing this good imposes a positive external cost, then the optimal quantity is less than the equilibrium quantity. Set Cost = $_______ (choose a value using the scroll bar). The resulting Consumer Surplus is $_____, the Producer Surplus is $________, the External Cost is $_____, and the Combined Net Surplus is $________.


c.
The shaded area to the right of the equilibrium, bounded by the social cost curve and the demand curve, between the equilibrium quantity and the optimal quantity, is the amount of value that could be gained if the optimum quantity were produced rather than the equilibrium quantity. Show your calculation of this area, confirming the value in the table to the left of the graph.

PositiveConsumptionExternality. Short Description of Worksheet. 

2. 
a.
If consuming this good imposes no external benefit, then the optimal quantity is also the equilibrium quantity. Set Benefit = $0. The resulting Consumer Surplus is $_____, the Producer Surplus is $________, the External Benefit is $_____, and the Combined Net Surplus is $________.


b.
If consuming this good imposes a positive external benefit, then the optimal quantity exceeds the equilibrium quantity. Set Cost = $_______ (choose a value using the scroll bar). The resulting Consumer Surplus is $_____, the Producer Surplus is $________, the External Benefit is $_____, and the Combined Net Surplus is $________.


c.
The shaded area to the right of the equilibrium, bounded by the social benefit curve and the supply curve, between the equilibrium quantity and the optimal quantity, is the amount of value that could be gained if the optimum quantity were produced rather than the equilibrium quantity. Show your calculation of this area, confirming the value in the table to the left of the graph.
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How long did it take you to finish this exercise set?

Please rate its difficulty.  Circle one of the numbers on the scale below
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extremely difficult

Please rate its clarity.  Circle one of the numbers on the scale below
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extremely confusing

Please suggest ways to improve the exercise set, in terms of either clarity or content.

